
Estimating the Mean L2 Mark Scheme  

1 [2]

30423.5 ÷ 300 [1]

101 mins (nearest whole number) [1]

2 [2]

52 ÷ 25 [1]

2 (nearest whole number) [1]

3 [2]

62667.5 ÷ 365 [1]

172 (nearest whole number) [1]



4 [2]

25800 ÷ 782 [1]

33 (nearest whole number) [1]

5 [2]

1687 ÷ 30 [1]

56 (nearest whole number) [1]

6(a) [2]

1375 ÷ 52 [1]

26 items sold per week (nearest whole number) [1]

6(b) 1375 × 25
[1] Allow process to multiply average 

number of sales a week by no. of 

weeks and 25

£34375
[1] Allow answer in range 34370 −
34380


